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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

Animal husbandry is the branch of agriculture --—--—eeeee- with animals that are
raised for meat, fiber, milk, eggs, or other products.
1) handled 2) concerned 3) included 4) interfered

Named by Portuguese explorer Ferdinand Magellan, who believed it to be free of
--------- storms, the Pacific Ocean is not, in fact, so pacific.

1) violent 2) distant 3) temporary 4) pointless

Animal rights is not just a philosophy—it is a social movement that -——---eeeeeeeev
society’s traditional view that all nonhuman animals exist solely for human use.

1) asserts 2) magnifies 3) distinguishes 4) challenges

If people can raise enough fish on farms, it stands to -—---eeeeeeee- that they will be
less inclined to hunt them from the sea.

1) logic 2) rationality 3) reason 4) attention

The programmer ----seeeeeee --- an analogy between the human brain and the
computer.

1) drew 2) bore 3) took 4) put

The -----mmaeemeeeee of the editor’s comments made us think that he hadn’t really read
the manuscript.

1) intensity 2) ignorance 3) tolerance 4) superficiality

The two boys tried to sound ~—--—---=e-m-- -- at the police station, but they weren’t really
sorry that they had herded the sheep into Mr. Ingersoll’s house.

1) resistant 2) impatient 3) regretful 4) indifferent

Though he spoke for over an hour, the lecturer was completely ------------—--- and the
students had no idea what he was talking about.

1) solitary 2) inarticulate 3) curious 4) effortless

For years no one could make this particular therapy work in animals larger than
rodents, but now two research groups have demonstrated its -------------—-- in dogs.

1) efficacy 2) restriction 3) sympathy 4) vulnerability
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10- The African elephant has become the object of one of the biggest, broadest

international efforts yet -----eeeceeeeeeee to turn a threatened species off the road to
extinction.
1) intruded 2) explored 3) mounted 4) compensated

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Scientists first recognized the value of the practice more than 60 years ago. when
they found that rats (11) ===-smeemeeaeev a low-calorie diet lived longer on average
than free-feeding rats and (12) ---se-cemmeeeee- incidence of conditions that become
increasingly common in old age. (13) ==-=--eeeeeeeeee ., some of the treated animals
survived longer than the oldest-living animals in the control group, (14) -=-==-=en---
that the maximum life span (the oldest attainable age), (15) ---------==----- merely the
average life span. increased.

11- 1) were fed 2) which they fed  3) fed 4) feeding
12- 1) had a reduced 2) they reduced

3) were reduced 4) that it reduced
13- 1) Although 2) While 3) What is more 4) So that
14- 1) meant 2) which means 3) means 4) it means
15- I)no 2) nor 3) neither 4) not

Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

The most obvious danger of night driving is decreased visibility. The distance a driver
can see is shortened and so hazards can often seem to appear out of nowhere. It also
takes time for the eyes to adjust to the darkness after being in a lit building or after
driving on a well-lit road.

Vulnerable road users may not be as easy to see at night, as it is difficult to make
out an identifying shape and road users should take more care at night. Pedestrians
may not have realized that you have not seen them. Cyclists are also difficult to spot.
as their lights are not as powerful as cars. It can also be more difficult to spot the
single headlight of a motorcyclist at night if they are around cars.

Young drivers who have not built up experience of night time driving are especially
more susceptible to collisions at night. Novice drivers can take a further driver training
scheme called Pass Plus, which contains a night driving module and will provide some
of the skills necessary for safe night driving.
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17-

18-

19-

20-

The hours of darkness are when your body is preparing to sleep. especially after a
hard day at work and tiredness can set in quickly, although usually with warning signs.
Driver fatigue and tiredness remains a large cause of fatalities on the night time roads.

The best title for this passage could be —--—-memeemev,

1) tips for driving safely at night

2) night driving hazards and problems

3) how to prepare for night drive testing

4) how to avoid driving accidents at night

The second paragraph ----—-—=--eeeeemv,

1) paves the ground for the third paragraph through reference to pedestrians and cyclists

2) rejects the idea presented in the first paragraph

3) presents new claims regarding night driving

4) supports the idea presented in the first paragraph

It is implied in the passage that --——-—-———-,

1) night driving requires more caution

2) night driving is dangerous and tiring

3) more pedestrians and cyclists are killed at night

4) eyes cannot adjust to the darkness

Which of the following sentences is NOT true, according to the passage?

1) Young drivers who do not have much experience of night time driving are likely to
have an accident at night.

2) The distance drivers can see increases when driving at night.

3) Pedestrians and cyclists are more susceptible to have an accident at night

4) Drivers’ fatigue and tiredness are among factors largely responsible for accidents
leading to death.

The word “novice” in the third paragraph is closest in meaning to ------ .

1) new 2) hasty 3) unexperienced 4) cautious

PASSAGE 2:

The tragic events of September 11" and the following anthrax contamination of letters
caused drastic effects on many aspects of society. Terrorism became the most
significant threat to national security because of its potential to bring massive damage
to infrastructures, economy, and people.

In response to this challenge, federal authorities are actively implementing
comprehensive strategies and measures in order to achieve the three objectives
identified in the “National Strategy for Homeland Security™ report: (1) preventing
future terrorist attacks, (2) reducing the nation’s vulnerability, and (3) minimizing the
damage and recovering from attacks that occur. State and local law enforcement
agencies, likewise, are becoming more vigilant about the criminal activities that harm
public safety and threaten national security.

Academics in the fields of natural sciences, computational science, information
science, social sciences, engineering, medicine, and many others have been called
upon to help enhance the government’s ability to fight terrorism and other crimes.
Science and technology have been identified in the “National Strategy for Homeland
Security™ report as the keys to win the new counter-terrorism war. It is widely believed
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21-

22-

24-

that information technology will play an indispensable role in making our nation safer
by supporting intelligence and knowledge discovery through collecting, processing.
analyzing, and utilizing terrorism- and crime-related data.

What is the main idea of the passage?

1) The tragic events of September 11"

2) Preventing future terrorist attacks

3) The role of federal authorities in making the nation safer

4) How to protect the nation against terrorist attacks

The phrase “this challenge in the second paragraph refers to -——-------- —

1) September 11" events

2) the threat posed by terrorist activities against national security

3) contaminated letters

4) the damage to infrastructures

Among the factors mentioned in the “National Strategy for Homeland Security”, which

ones are more effective to fight terrorism?

1) Natural sciences and computational science

2) Information science and social science

3) Science and technology

4) Engineering and medicine

It is implied in the passage that -,

1) federal, state, and local authorities try their best to make a peaceful environment for
people.

2) the three objectives mentioned in the “National Strategy for Homeland Security™
report will be mct only through fighting terrorism.

3) September 11" events occurred after some contaminated letters were discovered.

4) federal authorities have been successful in preventing terrorist attacks.

The word “vigilant” in the second paragraph is closest in meaning to —-----eeeeauv,
1) sensitive 2) alert 3) curious 4) optimist
PASSAGE 3:

Due to the complexity of the environment, units often need to respond to multiple
threats. The commander must understand how current and potential threat systems
(along with the system of friendly agencies) organize, equip. and employ their forces.

In tactical environments, police intelligence officers (P10) will work as a routine
part of conducting other military police missions, but they can also serve as a primary
function in order to support intelligence-driven operations. During offensive and
defensive operations. PIO serve to identify systems (criminal or police) within the
environment in order to indicate the conditions needed to establish stability. P1O also
serve as a contributing function, which enables the intelligence officers to accurately
articulate to the commander the environment and those who oppose stability. This is
especially true during stability operations where the role of the military police focuses
on developing a country's ability to protect its communities and enforce the laws.

In non-tactical environments, PIO provide essential products and services in
support of military operations. In particular., PIO can work to reduce threats against
Army installations and focus on the development and implementation of threat



F axiuo 916A (NFe) 05 w0 ool Co poe g a0l )8

26-

27-

28-

29-

30-

countermeasures to safeguard Army personnel. material, and information. Regardless
of the operational environment, PIO help bridge the information gap between what a

commander does and does not know.

What is the main idea of the passage?

1) The role of PIO in establishing stability

2) The role of PIO in discovering security threats

3) The role of PIO in supporting military operations

4)1&3

The writer refers to tactical and non-tactical environments as -----------—- .

1) instances of security threats

2) instances of non-offensive operations

3) instances of offensive operations

4)1&3

Which one is NOT true about what P10 de?

1) They help commanders become aware of potential threats.

2) They help make intelligence operations.

3) They support military operations.

4) They provide the commanders with everything they need to do the operations.
What is meant by “intelligence-driven operations™?

1) Operations which require intelligent drivers to be done.

2) Operations which require intelligence before they are done.

3) Operations which require intelligent commanders to be done.

4) Operations through which intelligence is gathered.

The word “installations” in the third paragraph is closest in meaning to -——--—-eeeeue,
1) weapons 2) bases 3) equipment 4) personnel
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